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Willingness to Pay (WTP)
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Practice Question 1

Suppose we estimate the following utility a) Use the estimated coefficients to
model describing preferences for cars: compute the WTP for fuel economy and
electric car vehicle type.

~ mpg 1
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The estimated model produces the
following coefficients:
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. 522 -4.0
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Simulating uncertainty

We can use the coefficients and hessian from a model to obtain draws that reflect

parameter uncertainty

beta <- c(-0.7, 0.1, -4.0)

hessian <— matrix(c(
-6000, 50, 60,
50, -700, 50,
00, 50, -300),
ncol = 3, byrow = TRUE)

covariance <- -1xsolve(hessian)
draws <— MASS::mvrnorm(1074, beta,
covariance)

head(draws)

[,1] [,2] [,3]
.6952607 0.13640663 .021549
. 7193316 0.13093750 . 844448
.6848580 0.09395454 .986473

.6948808 0.06480716 .067523
. 7128530 0.18258654 . 000395
. 7055700 0.14353159 .066792
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Computing WTP with draws
B

A
—
draws_other <- draws[,2:ncol(draws)] Mean WTP with confidence interal
draws_price <- draws/[,1]
draws_wtp <- draws_other / (-1xdraws_price)
head(draws_wtp) logitr::ci(draws_wtp)

[,1] [,2]
. 19619493 . 784231
. 18202662 .344472
.13718834 -5.820875

#> mean lower upper
#> 1 0.1429359 0.03776162 0.2516029

#> 2 -5.7150021 -5.98184669 -5.4612197/

.09326371 .853555

.25613490 -5.611809
.20342643 -5.763839 9/ 29




Practice Question 2

Suppose we estimate the following utility model describing preferences for cars:

~ m
’U,J p— apj + ,8133] e + Bzw.e;lec —+ Ej

The estimated model produces the a) Generate 10,000 draws of the model
following coefficients and hessian: coefficients using the estimated
coefficients and hessian. Use the
e a:-0.7 mvrnorm() function from the MASS
e [51:0 library.
i Bg: -4.0

) _b) Use the draws to compute the mean
—6000 20 60 WTP and 95% confidence intervals of
V2 In(L) = 50 700 50 WTP for fuel economy and electric car

p vehicle type.
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Computing WTP from an estimated model

1. Open logitr—cars

2. 0pen code/6.1-compute-wtp.R
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Your Turn [1@ : 0@]

As a team, compute the WTP from an estimated model
you used in your pilot analysis report
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Willingness to Pay (WTP)

"Preference Space" "WTP Space”
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WTP space models have non-convex

log-likelihood functions!

l\!umbe.r i First order condition Second order condition Example
dimensions
df (x* 2f(x*
e f(X)ZO df(X)>0
dx dx?
“Gradient” “Hessian”
VF(xy, Xp, .. Xp) V2f(xq, X9, .. Xpy)
ax? x5 0%,
Multiple af af of = :
0x " 0x " Oy or .. 94
= [0,0, ..., 0] 0x,0xn ax2
Must be “positive definite”
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WTP space models have non-convex
log-likelihood functions!

Use multi-start loop with
random starting points
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Computing WTP from an estimated model

1. Open logitr—cars

2. 0pen code/6.2—model-wtp.R
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Your Turn [10 : 0@]

As a team, re-estimate the main model you used in your
pilot analysis report, but now in the WTP space.

Try plotting your results (see 6.3-plot—wtp.R for
examples)
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We want to find B by maximizing the log-likelihood

Estimate 51, B>, ..., by minimizing
the negative log-likelihood function:

]
=|p1xj1 +|f2xjz + ... +& minimize —In(£) = —Z_ 1yjln[P),-([3|x)]
NS g
j |
Weights that denote the with respect to 3

relative value of attributes _ —
y; = 1if alternative j was chosen

Xi1, Xi2) o . .
J1r 22 yj = 0 if alternative j was not chosen
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Simulate Market Shares
1. Define a market, X

2. Compute shares:
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Simulate Market Shares

A:ﬁfx
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D

Simulate Market Shares
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Practice Question 1

Suppose we estimate the following utility a) Use the estimated coefficients to
model describing preferences for cars: compute the WTP for fuel economy and
3 mpg ec electric car vehicle type.
uj = ap;j+ Pz + Pz + g . .
b) Use the estimated coefficients to

The estimated model produces the compute market shares for the
following coefficients: alternatives in the following market:
e ax:-0.7 alternative price mpg elec
* Bi: 01 1 15 20 0
. 522 -4.0
2 30 100 1

3 20 40 O




Simulating Market Shares with Uncertainty

We can use the coefficients and hessian from a model to obtain draws that reflect

parameter uncertainty

beta <- c(-0.7, 0.1, -4.0)

hessian <— matrix(c(
-6000, 50, 60,
50, -700, 50,
00, 50, -300),
ncol = 3, byrow = TRUE)

covariance <— -1xsolve(hessian)

draws <— MASS::mvrnorm(1074, beta,

covariance)

head(draws)

[,1]
.6954732
. 7029691
. 7261536

.6867862
.6866717
.6859331

[,2]

.13169817
.12444788
.15741668
. 19197337
. 17024995
.09267376

[,3]

.976132
.004957
.127974
.897932
.087407
.041047
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Simulating Market Shares with Uncertainty

Rely on the predict () function to compute shares with uncertainty.
Internally, it:

1. Takes draws of B
2. Computes P; for each draw

3. Returns mean and confidence interval computed from draws
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Simulating Market Shares with Uncertainty

1. Open logitr—cars

2. 0pen code/7.1-compute—-market-
sims.R
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Your Turn [20:00]

As a team:

1. Develop one or two scenarios pitting your product against one or more

competitors.
2. Use one of your estimated models and the predict () function to predict market

shares for those scenarios.
3. Try plotting your results (see 7.2-plot—-market—sims.R for examples)




